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For instance; — IND2 TR 9D DY AR N2 mww PAD
he was unaware of the n1> even though he was aware of the 18

OVERVIEW

The X773 states that 13171 "1 maintains that if he was n732 22 even though he
was 1R?2 717, nevertheless it is considered a 7w according to the 1127, while
w°pY W1 maintains that according to the 3127 it must be a N7 WY AW,
Then immediately X237 asks and explains the reason of 2"9. However the X7
does not discuss the reason of >"1. Our N5 addresses this issue.

— 'ywins 241 NYPNA IND 2915 RXIT DIVN )INIY 2297 XNYL)
And the reasoning of >''% (that n7> naw is sufficient) is because in the

wp of 2" there is no mention of a IR -
— NI%Y NN N9 NIN 29ND XY

And in that w92 only n92 is written, therefore N> naw is considered a maw

even though X?2 7177,
— 213099 5299 NPV SN YA KDY YIPY YWIIT NAYD INMI A 5909

And therefore X271 asked what is the reason of »'=, but he did not ask

what is the reason of °'"9, since the reason of *" is apparent as just mentioned
previously.

Based on the above n1901n qualifies the ruling of >"~:
— 9D 12 YWINI 2297 RWPIN 1D NHIONT 19397 RN 99910 1IN 5297 91290 7298

And it is necessary to maintain that >''9 (who argues that N7 naw is a

Ta), is speaking only according to the 13127 who follow the wp>m of "2,

in which we derive all 11279 21 from 1"V -
— *m9599 MY 191N 1Y NPT >1a95 Hax

However according to 529 who derives this ruling (that there is a nXvn 211

only if n1211177) from the 2'"'3 of 799, then -
— 1791 IXD2 MAIWIY 1Y 5927 13N Y39 NI

" The wp*n of >"1 (between 1"y and all other m¥») governs the rules concerning a NXvA 27 (that it has to be
a N2 W77 2y 0°27nw 127) based on the P09 of 071511 "3 woim. Therefore we say that if he was 2w on the
N7, he is not a 71, and is required to being a 127p.

% See ‘Overview’.

? See “Thinking it over’# 1.

* See conclusion of (previous) 1in 1"7 '01n (footnotes # 15 & 16).

> See ‘Thinking it over’ # 2.
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“''1 agrees that it is required that he should be a xx: for both the 8% and

nAs -
199 NPN XY NMNNK YN HYNRI XD NINNA INY 3909 NNt

For in the 202 of mpn 8% NMINR DR NI, etc. °9Y 70w NP5 XY, there is

a WRY written; namely npn 8. Therefore since we compare all NXVA *2»7 to MAX NO°K
NWR, so just like by Nwr mnax (where the word 7°%v if written for the w'"ry) the 77N
mentions a XY, the AW2 DXV 211 can only be if he was [N7521] Y2 aw.

SUMMARY

1AM ' maintains that N7 N is sufficient since only N7 (and not a IRY) is
mentioned in the wp 7. According to 27 who derives N7 M7 from the w1
of 7%y, all will agree that \X?Y n75 NXW is required.

THINKING IT OVER

1. mpoIn states that according to °27 (who derives the requirement of 11177
n12 by 3297 2vn from °9Y), even °"1 would agree that (n127) W? N s
required.® Seemingly however *21 agrees with 121, for since *21 does not
use the wp 1 of NAX 770 to derive N72 M7T (but rather he derives it from
7°9v), then it would seem that the wp 7 of nnX 770 is used in accordance
with 121, as is evident from our ¥723. How can n190In state that according
to 27 we require N131 IR? NAW when 27 agrees with 121, that even naw
1277 is sufficient?!’

2. mpoIN states that >"7 agrees according to "2 that there is a requirement for
W22 3w and n12.° Seemingly 892 23w is required since there is a W% (of XY
nPn) in the P09, but why is it necessary that he was nN722 2w as well, since
N72 1s not mentioned in this P105?

6 See footnote # 3.
" See X"w1mn and oo oW pnn.
8 See footnote # 5.
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